A

f(i : INTEGER) : INTEGER
do Result := i

ensure
Result >= 0; Result <= 10

redefine f redefine
B C
f(i : INTEGER) : INTEGER f(i : INTEGER) : INTEGER
do Result :=1 do Result := 1
ensure then ensure then
Result <=7 Result >= 3
undefine
D

Value of i | Effect of calling d.f(i)

2 No exception!

3 Result <= 7: POSTCONDITION_ VIOLATION raised (from B)

42 Result <= 10: POSTCONDITION__VIOLATION raised (from A)
Result <= 7: POSTCONDITION _VIOLATION raised (from B)

-42 Result >= 0: POSTCONDITION__ VIOLATION raised (from A)




